Add and Subtract Numbers

At the very base of math are the functions of
addition and subtraction. These functions come
almost naturally to everyone. For example, if
you are going out to a movie with two of your
friends, you are going to buy three tickets. You
have just added 1 + 2 to get an answer of 3.

Algebra throws one of its many curveballs with
the introduction of negative numbers. Not to
worry though, if you are like most people, you
have already added negative numbers and not
even realized it. Just think of negative numbers
in terms of money. If you owe $10 to a friend

and then borrow $5 more, not only do

you have a trusting friend who is short $15,
but you have added negative numbers. In
mathspeak, your financial statement would
look like this: =10 + -5 = -15.

Working with negative numbers is not

much different from simple addition and
subtraction. The answer to an addition problem
is still called the “sum” and the answer

to a subtraction problem is still called the
difference” regardless of whether the answer
ends up being a positive or negative number.
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How can | simplify problems that
) contain signs which are side-by-side?

When you see two positive (+) signs

or two negative (-) signs beside one
another, you can replace the signs with
one plus (+) sign.
3+(+5)=3+5=38
6-(-3)=6+3=9

When you see two different signs (+ or -)

beside one another, you can replace the
signs with one minus (=) sign.
7+(-3)=7-3=4
9-(+2)=9-2=7

Chapter 1 Algebra Basics

» Solve the following problems by
‘ a- b=629 applying the rules you have learned

for adding and subtracting positive
and negative numbers. You can
check your answers on page 250.

12+5+7
2) 3 + (-5)
3) -7+ 10
4) -2 + (-4) + 11
5)1-(-7)
)

6)6-3-9

Adding Positive Numbers and Variables Adding Negative Numbers Subtracting Positive Numbers and Variables Subtracting Negative Numbers
2+3=5 (-2) + (-3) = —-(2+3)=-5 5-3=2 3-(-2)=3+(+2) =5
50 + 30 = 80 (-5 +(-4)=-(5+4)=-9 20-5-3=12 8 - (-5) =8+ (+5) =13
8+ 10+ 12 =30 (-6) + (-8) = —(6 +8) =-14 30 -50=-20 -5-(-3) = -5+ (+3) = -2
x +4 3+(-2)=3-2=1 15 - x 4 - (-7)=-4+ (+7) =3
xX+y+z (-4)+2=—-(4-2)==-2 X—-Y -2z -6-3=-6+(-3)=-9
1 When you see a plus ® When adding two 1 To add two negative 2 To add a positive and a T When you see the ®* When subtracting a ®* To make a subtraction T In a subtraction problem,

sign (+) between two
numbers, you add the
numbers together. For
example, 2 + 3 equals 5.

positive numbers, the
answer will always be
a positive number.

numbers, add the
numbers as if they
were positive numbers
and then place a
negative sign (-) in
front of the answer.

negative number, pretend
both numbers are positive
and subtract the smaller
number from the larger

e You can also add number. Place the sign For example, 30 — 50
(+ or -) of the larger number

variables and numbers \ equals -20.

together. A variable is e When adding two in front of the answer. e You can also subtract
a letter, such as x ory, negative numbers, e When adding a positive variables.

which represents an the answer will always and a negative number, the

unknown number. be a negative number. answer could be a positive

or negative number.

minus sign (—) between
two numbers, you
subtract the second
number from the first
number. For example,

5 - 3 equals 2.

larger positive number
from a smaller positive
number, the answer will
be a negative number.

problem easier to
solve when working
with negative
numbers, you can
change a subtraction
problem into an
addition problem.

change the minus sign (-)
to a plus sign (+) and then
change the sign of the
number that follows from
positive (+) to negative (-)
or from negative (-) to
positive (+). For example,

3 - (-2) equals 3 + (+2).

2 You can now solve the
problem by adding the
numbers.
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